R6.9.1 Bl SramEEAnR S sl R

JNE] i H FEHE BRI fhENRE TN E)
LU HaEL 5 i ] A HEPER| AR SET| I EsA ERsH &EH (H) | (&)
Xl 49, 774 109, 699] 53, 298] 56, 401 36 ol -39 68 107 41 415] 374 0 128 128
HI—TH 711 1,466 715 751 0 0 —4 0 4 3 8 5 1 2 1
FLl T H 577 1,292 643 649 2 1 1 3 2 -2 2 4 2 2 0
LI =TH 483 1,054 500 554 -2 —4 1 2 1 -5 0 5 0 0 0
Sl AEH 1L, 771l 3,812]  1,858| 1,954 0 -3 -2 5 7 —4 10 14 3 4 1
Sk —TH 492 948 444 504 -1 -2 0 1 1 0 4 4 -2 0 2
. = 738 1,680 800 880 —4 0 0 0 0 3 3 —4 2 6
SR —TH 573l 1,296 617 679 1 -1 0 1 -1 3 4 3 6 3
S AT H 402 870 437 433 —4 -1 1 2 -3 2 5 0 1 1
o h ] B 621| 1,315 631 684 -1 0 1 1 -1 8 9 0 0 0
BN T B 237 483 243 240 -2 —4 -1 0 1 -3 0 3 0 0 0
ARt TH 657l 1,616 788 828 1 -2 2 3 1 -1 0 1 -3 3 6
oA\ T H 396 838 384 454 0 0 0 0 0 -2 0 2 2 2 0
IV B 622 1,456 709 747 -2 0 1 1 -3 2 5 1 2 1
B anaat] 4,738 10,502 5,053 5,449 6] -18 -1 7 8| -14 22 36 -3 16 19
e n—1H 356 782 384 398 -1 -3 -1 0 1 -1 3 4 -1 0 1
HaE S T HL 1,028 2,094 1,048 1,046 0 -2 3 5 2 -5 4 9 0 0 0
HHk o —TH 678l 1,375 663 712 1 -1 1 2 7 8 1 1 4 3
Wk A ErL 2,0620 4,251 2,095 2,156 0 2 1 6 5 1 15 14 0 4 4
Mt A — T H 556( 1,231 593 638 -1 -1 -1 0 1 —4 2 6 4 4 0
ek R _TH 361 907 458 449 0 —4 0 0 0 0 4 4 —4 0 4
Mk R =TH 247 538 276 262 0 -2 0 0 0 -2 0 2 0 0 0
ik L G| 569 1,304 663 641 1 -2 -2 0 2 0 2 2 0 0 0
msEr aaEt] 1,733l 3,980 1,990 1,990 0 -9 -3 0 3 -6 8 14 0 4 4
TEIT) 394 847 408 439 2 -2 0 0 0 -2 3 5 0 0 0
HOEEN— T H 214 437 220 217 -1 -1 0 0 0 1 2 1 -2 0 2
HOEE T H 442 949 464 485 0 -6 -2 0 2 3 6 3 -7 0 7
HoEEI =T H 737 1,746 853 893 3 6 0 1 1 -2 7 9 8 8 0
HOEEAN T H 829 2,068| 1,030 1,038 0 -1 1 2 1 -3 2 5 1 1 0
HEROH T H 4321 1,007 510 497 -5 =10 -3 0 3 -6 0 6 -1 0 1
HOEEIS T H 392 839 406 433 -5 -9 0 0 0 -8 2 10 -1 0 1
HoEEOETH 678 1,429 704 725 7 13 -2 0 2 15 16 1 0 0 0
HOEESOSE 3, 724| 8,475 4,187| 4,288 -1 -8 -6 3 9 0 35 35 -2 9 11
PEEE| 1,516 2,709 1,306 1,403 -2 -6 -2 1 3 1 4 3 -5 0 5
FHIAR 310 643 330 313 1 0 0 0 1 3 2 0 0 0
EE g —T 561 1,118 521 597 2 -3 -1 0 1 -2 4 6 0 2 2
EE g — T 259 504 246 258 -1 -2 -1 0 1 -1 0 1 0 0 0
R =T H 543 1,167 581 586 0 -3 1 1 0 -3 5 8 -1 1 2
TEE Py T 669 1,322 628 694 0 2 -1 1 2 2 10 8 1 1 0
EEP g R T H 244 548 268 280 -1 -6 0 1 1 -5 0 5 -1 4 5
EEP A2 2 276l 4,659|  2,244| 2,415 0] ~-12 -2 3 5 -9 19 28 -1 8 9
EEIARRT— T H 712 1,396 660 736  -17] -17 0 1 1l  -15 8 23 -2 0 2
EEIARRT T H 692/l 1,300 596 704 0 0 1 2 1 1 7 6 -2 0 2
EEOARRTAE| 1,404 2,696 1,256 1,440f -17[ -17 1 3 ol -14 15 29 —4 0 4
RPN 277 764 421 343 1 -3 -3 0 3 -1 1 1 0
WHR—TH 7431 1,646 804 842 5 6 0 1 1 2 4 4 0
R T H| 1L,730  3,869] 1,868| 2,001 1 8 —4 1 5 11 23 12 1 10 9
WHR=TH 888l 2,215 1,081 1,134 7 10 -2 1 3 6 11 6 8 2
HHRIT H 506 1,193 560 633 2 1 -1 0 1 2 0 0 0
HPREEH 3,867 8,923 4,313 4,610 15 25 -7 3 10 21 44 23 11 22 11
HiR—TH 720[ 1,574 768 806 1 1 -1 3 4 2 7 5 0 0 0
LR - TH 977|l 2,280 1,139 1,141 6 7 -1 0 1 7 11 4 1 2 1
PR =TH 502/l 1,045 538 507 0 -2 -2 0 2 -1 7 8 1 1 0
JbriR&aEH 2,199 4,899| 2,445| 2,454 7 6 —4 3 7 8 25 17 2 3 1
T IROBTHT 332 802 382 420 -2 -7 0 1 1 -3 0 3 —4 0 4
WEl 1,638 5,089 2,268 2,821 -2 1 -1 2 3 1 16 15 1 3 2
M E T H 798| 1,808 882 926 1 1 -1 1 2 3 6 3 -1 4 5




R6.9.1 Bl SramEEAnR S sl R
JNE] Fij T EE I H SREh e fhENRE TN E)
LU HaEL 5 i s A AR AR SET) ] A EREH &EH (H) | (&)

FYlE 1T H 779 1,803 897 906 5 6 -2 0 2 5 8 3 3 3 0
MoE =1 H 638 1,470 723 747 1 -2 -1 0 1 1 1 0 -2 2 4
A EN T H 943|l  2,198| 1,047| 1,151 8 5 1 1 0 5 12 7 -1 0 1
RCENNE 678 1,499 737 762 3 4 1 2 1 8 12 4 -5 2 7
MAEST H 425 971 455 516 5 6 0 0 0 6 6 0 0 0 0
mAlEaE 4,261 9,749| 4,741| 5,008 23 20 -2 4 6 28 45 17 -6 11 17
VEPIe S 597Il 1,166 571 595 6 7 1 1 0 7 7 0 -1 0 1
e —TH 328 691 332 359 1 0 -1 0 1 1 1 0 0 0 0
i — T H 604/ 1,313 631 682 3 3 0 0 0 2 3 1 1 2 1
A gl 932|l 2,004 963| 1,041 4 3 -1 0 1 3 4 1 1 2 1
Eh— 1 H 307 676 344 332 -1 1 1 1 0 1 2 1 -1 0 1
B — T H 695/ 1,413 665 748 6 9 -1 0 1 9 16 7 1 4 3
=T H 433 1,082 543 539 -1 1 0 0 0 1 3 2 0 0 0
EAEr| 1,435 3,171 1,552] 1,619 4 11 0 1 1 11 21 10 0 4 4
e —TH 395 929 435 494 6 11 0 1 1 8 9 1 3 3 0
WHE T H 452 1,074 533 541 0 2 0 1 1 0 3 3 2 3 1
HHE T H 842 2,048| 1,035 1,013 1 5 -3 0 3 2 3 1 6 6 0
W& T B 44111 1,010 489 521 -1 -2 -3 0 3 1 1 0 0 0 0
B E ] H 858 1,808 896 912 3 2 —4 0 4 6 8 2 0 0 0
HHIENT H 249 501 251 250 -1 -1 1 1 0 -1 0 1 -1 2 3
HE SR 3,237 7,370] 3,639 3,731 8 17 -9 3 12 16 24 8 10 14 4
<HWE—TH 598 1,322 646 676 0 -5 -3 0 3 -2 4 6 0 0 0
<HEIL—TH 710[ 1,464 716 748 -1 -3 0 2 2 0 10 10 -3 0 3
SHBEIL=TH 510[ 1,096 536 560 -3 -5 -2 0 2 -2 4 -1 0 1
<HEWLPTH 580 1,164 566 598 -3 -5 -2 0 2 0 2 -3 0 3
<O T H 273 588 312 276 1 1 1 1 0 0 1 0 0 0
<WEIEEH 2,671 5,634 2,776 2,858 —6 -17 —6 3 9 —4 19 23 -7 0 7
WIE AR —TH 801l 1,687 832 855 3 3 -1 0 1 4 11 7 0 1 1
WIEAR T H 4831 1,135 584 551 -3 -6 -1 0 1 —4 1 5 -1 3 4
PIEARTSE 1,284]  2,822] 1,416] 1,406 0 -3 -2 0 2 0 12 12 -1 4 5
s 415 785 372 413 4 4 0 0 0 -2 1 3 6 6 0
ek a—TH|[ 1,176 1,849 858 991 -17 -17 -1 2 3 -14 8 22 -2 1 3
e T H 598 1,075 515 560 -2 2 2 2 0 3 11 8 -3 0 3
kR =T H 761 1,814 846 968 4 7 1 1 0 3 4 1 3 6 3
sk BRI H 427 865 418 447 2 6 1 1 0 5 8 3 0 0 0
o aaEl 2,962 5,603 2,637 2,966  -13 -2 3 6 3 -3 31 34 -2 7 9
FRIREET 22 52 26 26 0 0 0 0 0 0 0 0 0 0 0
B 742 1,720 819 901 4 11 2 4 2 5 6 1 4 4 0
VEEE 342 726 334 392 -2 -3 0 1 1 -3 2 5 0 0 0
e — T H 458 1,100 543 557 2 1 0 0 0 1 4 3 0 0 0
e T H 413 913 453 460 2 6 2 2 0 4 4 0 0 0 0
oo B R 871l 2,013 996 1,017 4 7 2 2 0 5 8 3 0 0 0
P — T H 699 1,419 705 714 -5 -3 2 2 0 —4 3 7 -1 2 3
P T H 540 1,263 595 668 -1 0 -1 0 1 1 3 2 0 0 0
Ve A Er 1,239 2,682 1,300 1,382 -6 -3 1 2 1 -3 6 9 -1 2 3
P e 314 684 348 336 -2 2 1 3 2 3 7 4 -2 0 2
BEHIR 209 467 252 215 0 -2 0 1 1 -2 1 3 0 0 0




